i
I
iy
Tl
P
i

1. ¥%4
kB4 I B SR B HAEIE R > b U — 7 iR TS
BT T VT 6 TR R

2. EBNE

1) FHI4 AR A (E PR

2) BT 205 H [ H 4f1 64 6H 6H
AF 64E12A27H

3) %M
AEHIT., AR Y NU—2 8T A RT 4 2] OBEICHE D, RIERERF
X NI —27 OFMBICET H2MFEITHI> DO TH D,

4) EBAE
BFHEE R v b U — 7 Bt

-1 - E Ly Est B R



kXL | IR RIEREE R v b U — 7 ERTER Eg BREHES
H A BHREE R vy b U — 7 Bt
THAH - LfE - fE5 =RV iy & A BN AR
EHEE R Y MU — 7 Bliat =X 8, 682, 500
FHEE R v U — 7 Bt = 8, 682, 500
BREE R v b U — 7 Bt = 8,068, 000 | 1HHIEIE R v bV — 7 Bt
1 =
EWE =T bl
1 =
Felig )7 $H e Mt
1 =
EARENcN = 422,500 | fT&¢
1 =
ARSI L 2 WmE = 64,800 | PREEFIINEIC X 28
1 =
N B AR L D AERL = 127,200 | 2B 350 O B
1 =
LR =X 289, 369
[ERI3 T =X 289, 369
-G k- = 129,369 | St (i E - w10
1 =
R R 2 160,000 | R R IERE
1 =
BRI (Z OB <) =X 8,971, 869
& DAt Al = 4,675, 526
— A = 7,342, 605
SEG MRS = 20, 990, 000
-1- E s I 7 R



